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FEiE#E 9 4 95 46 49
J\BHF4HE 6 3 43 24 19
J\BHELHE 5 4 66 29 37
J\BH$#HE 9 4 72 38 34
EHHHE 8 4 64 30 34
hENHE 15 6 169 97 72
A HE 5 2 70 35 35
THYHE 9 4 80 43 37
HEF S HEE 8 4 103 51 52
KBFHHE 6 2 51 26 25
RS HE 6 4 49 30 19
FEFERSHE 8 4 81 36 45
FEFERESHE 11 7 136 65 71
REFEIHE 9 4 104 58 46
ZREHHE 5 2 36 18 18
ZRIGHE 5 2 34 17 17
R E— SR 4 2 41 16 25
R EE Z 4R 4 2 36 14 22
R E = HEE 5 2 54 24 30
BEEINE—HHE 10 8 214 118 96
BEZIE ZHHE 12 8 217 116 101
EEYHE 14 10 244 120 124
RIENHHE 10 5 132 73 59

i 4 183 97 2,191 1,124 1,067
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